Equal 9 step grey scaling betweeh* gan=-52 & L*pan=52.9, Yoref=110, normalisation whiteW

L*0anm=52.8,L*0a=0.0, L*0anF53.0, Yoan=3.6. Y0a=20.0, Yoaw=110.0,Coavy=Yoaw: Yoan=30.2
L*taN=32.4,L*1a=36.6,L*taw=53.0, Ytan=56.8, Ytay=65.0, Ytaw=110.0,Gay=Ytaw: Ytan=1.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 AL* min] / [AL* max], L* TuBLOG, Ua =50/ Iog(5) [log (Y/Yy) ] with Y,=20

g%= 99, g%= 99 9%=12,g%=8 g%= 70, g%5= 52
L*TuBLOG,Ua intended output real output linearized output
n0.i L*0a L*Or YOa YOr : L*a AlL*a L*tr Yta (L*r) 215|*a Al*a
60+ :
Og 53.0 1.0 1100 1.0: 53.0 1.0 1100 1.0 53.0
3 5.9 3.0
8 397 0875 71.8 0641 47.0 0.712 90.9  0.854 49.9
30+ 4.6 2.8
7 265 075 469 0407 425 0488 78.4  0.717 47.1
; 34 2.6
6 132 0.625 30.6 0.254 39.1 0.323 70.3  0.591 44.6
: 2.4 2.3
o+@s5 00 05 200 0154 366 0.204 65.0  0.477 422
: 1.7 2.1
.4 -13.1 0.375 13.1 0.089 34.9 0.121 61.5 0.374 40.1
; 1.2 2.0
@3 264 025 85 0046 337 0.064 59.3  0.278 38.1
-30+ : 0.8 2.0
@2 396 0125 56 0018 330 0.025 57.8  0.182 36.2
: 05 3.7
@: 528 00 36 00} 324 00 568 0.0 32.4

-60+

. ? YoaitYe
*o = = ! normalisation: Yy =Yoayy0ait Yoref
AL*gF132  (=1.2,..8) | taiw =Yoawy 22l el
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